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QUESTION 1

Traffic assigned to forwarding classes is placed into queues, while the contents of the queues are serviced in a
controlled manner using

A. WRED

B. shapers

C. schedulers

D. markers

E. weighted fair queues (WFQ)

Correct Answer: C

QUESTION 2

Click the exhibit button below. Traffic arriving at router PE 1 is marked with a dot1p value of 4. Given the network
policies applied on the routers in the diagram below, what is the EXP value of packets arriving at router PE 2?
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Arpelrconfigigqoasnetmock# info A:prconfigrgoztne tworkf info
BOress Egress
fc atf Ec af
lezp-exp-in-profile 3 lep-exp-in-profile &
lsp-exp-out-profile 2 lap-exp-out-profile 5
exit BxXit
EXLE Eﬁit

treiffic flow

gueus 3 profile-node create
exit
Lc "af" create
queue 3
profile out
exXit

corlp 4 £¢ af

Atproonfig-qosknetworkd info
ingress
lasp-exp 0 fc be profile
lap=-axp 1 fc 12 profile
lsp-exp 2 fc af profile
lap-exp 3 fc af profile
lap=-exp 4 fc hi profile
lap-exp 5 fc ef profile
lap-exp 6 fo hl profile
lap-axp 7 fo ne profile
exit

ouc
out
out
in
in
in
in
in

A:peZrconfigrqossnetwork# info
ingress
lap-exp 0 fc be
1sp-exp 1 fec 12
lap-exp & fc at
lsp-exp 3 frc af
lap-axp 4 fc h2
lap-exp 5 fc ef
lap-exp 6 fc hl
l1sp-axp 7 fr nec
M1t

profile out
profile out
profile out
profile in
profile in
profile in
profile in
profile in

Note: Only relevant portions of the network policy are shown.

A2
B.3
C.5
D.6
E. None of the above.

Correct Answer: A

QUESTION 3

How many queues are available for use on service egress within a VPLS service?

A. 1 multipoint and 8 unicast.

Latest 4A0-107 Dumps | 4A0-107 Practice Test | 4A0-107 Exam Questions

3/6


https://www.geekcert.com/4a0-107.html
https://www.geekcert.com/4a0-107.html
https://www.geekcert.com/4a0-107.html

VCE & PDF https://lwww.geekcert.com/4a0-107.html
2024 Latest geekcert 4A0-107 PDF and VCE dumps Download

GeekCert.com

B. 8 queues, regardless of traffic type.
C. 8 unicast and 24 multipoint.

D. 8 unicast and 8 multipoint.

E. 16 queues, distributed as desired.

Correct Answer: B

QUESTION 4

*A:R1>config>qos >sap-ingress# info

—— Output omitted ——

queue 5 create
rate 4000 cir 2000
exit
queue 6 create
rate 10000 cir 5000
exit
fc af create
queue 5
exit
fc ef create
queue 6
exit

Based on the image shown above, and assuming that the default scheduler of the Nokia 7750 SR is on an IOM2 card,
in which order will packets be scheduled?

A. Queue 6 within-CIR packets, then queue 5 within-CIR packets, then queue 5 and queue 6 above-CIR packets in
round-robin.

B. Queue 6 within-CIR packets, then queue 5 within-CIR packets, then queue 5 and queue 6 above-CIR packets in
biased round-robin.

C. Queue 6 within-CIR packets, then queue 5 within-CIR packets, then queue 6 above-CIR packets, and finally queue 5
above-CIR packets.

D. Queue 6 and queue 5 within-CIR packets in biased round-robin, then queue 5 and queue 6 above-CIR packets in
round-robin.

Correct Answer: B

QUESTION 5
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Click the exhibit button below.

Default trust states
for all interfaces

5 Awproonfig> qos>networks Aspel>config> qos>sap-egress! inf
e ixb g et
o= e - queus 5 create
qu;ue 2 profile-mode create egress ik
;::af sl Acpel >config> qos>ne tworld info 10 remarking fc af create
fe of
e e . e s B - e , quaue 3
q‘:';;: L seress Isp-exp-inprofile 2 dotlp 5
E—remuk af22 Py I pEs S decp 12
S e @ fio of dscp-in-profile afdl pxit
¢ - lsp-exp-in-profile 5 dscp-out-profile of 23 fio 11 create
;:111 o lep-exp-out-profile 4 exit queue 5 craste
P dsepein-profile af2l exil dotlp2
dscp-out-profile f 23 [ 4ryscanfig>qos>metworks info dscpbe | Aspe2>condig>qes>ne tworks info
exit i N - (e e
exit i mgress
ngress h e
sp-exp 2 fio 11 profile in
:sp-:xp ;‘ : :?NE: uut lep-exp 3 fe 11 profile out
g oz s lsp-exp 4 fc af profile out
dicp af33 fo of profile out Jop-exp 5 fc af profile i
 SEERERNS dscp af33fc f profile out
dscp a1 fe of profile in
dscp af2l fo 1l profile m
decp «f23 fe 11 profile out
ent

All interfaces are using their default trust states and MPLS is used as the transport tunnel. The SAP-ingress, SAP-
egress, and network QoS policies have been configured as shown below. Assume that the default network-queue policy
is used on each router.

At router PE 1, customer traffic is arriving marked with DSCP BE and tagged with a dot1p value of 3.

Based on the configuration shown below for the VPRN service, what will be the DSCP and dotlp marking for the packet
egressing at router PE 2? (Choose two)

A. The DSCP value will be set to af21.
B. The DSCP value will be set to be.
C. TheDSCPvaluewillbesettoaf23.

D. The DSCP value will be set to af 12.
E. Thedotlpvaluewillbesettob.

F. Thedotlpvaluewillbesetto2.

G. The dotlp value will be set to 3.
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Correct Answer: DE
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